Assembly Instruction

Bedrail + Extension
995 995
[ | [ |
{l Bedrail | I Extension
15990
{

W 1T

ORIGINAL RIMA

Tamilienbett



Dear family bed sleepers,

by selecting a product from RIMA GmbH, you have made an excellent decision.
It is important that you carefully read and follow the assembly instructions
provided to ensure proper use of the product.

WOOD - A NATURAL PRODUCT
Wood is a natural material that is affected by the humidity of the surrounding
air. With careful maintenance, you will enjoy your family bed for many years.

€

—1 CHECKING THE LIST OF PARTS
E@ Before you start assembling, please check the completeness of the components
:l\ according to the parts list.

Y FINALLY
Please be aware that we may make technical modifications. We now wish you

lots of fun and success assembling your bed and many peaceful nights in your
family bed.

‘ GENERAL INFORMATION:
Assembly time approx. 60 minutes (1 person)
The bedrail is attached to the inside of the family bed.

It can be attached to the side as well as to the footboard.

SOMETHING DOESN‘T WORK?

Mistakes happen!

Although we try very hard, it can happen that something doesn‘t work out.
If items, packages or components are missing or damaged in your delivery,
please let us know the item or package number so we can quickly allocate

them and send you a replacement without delay.

mail

@j office@familienbett.at

@ +43(0) 3612 / 250 25




@ CHECKING THE LIST OF PARTS
=N Included are the following wooden elements:

BEDRAIL - SMALL BEDRAIL - EXTENSION
- 3 pcs. wooden strips - 3 pcs. wooden strips
- 2 pcs. vertical profiles - 1 pcs. vertical profile
- Fittings - Fittings
G995 995
| |
Bedrail Extension

503

Bedrail + Extension

@\ CHECKING THE LIST OF PARTS
=N Included are the following parts:

BEDRAIL - SMALL BEDRAIL - EXTENSION

w12 PCS. SCrews ez 12 PCS. SCrews

<« 12 pcs. cover caps <™ 12 pcs. cover caps

s> 4 pcs. screws (4x45mm) psss 2 pcs. screws (4x35mm)
— 1Allen wrench



ASSEMBLY BEDRAIL - SMALL

Connect and fix the 3 wooden slats and the 2 wooden pillars using the 12 screws.

= B - «[B -
= (o] = [ e 3
= [ - ¥ «
Y B [ -
= []= «| -

Side view

Then place the cover caps onto the screw heads.

- oGP
.4 .4

Side view

FIX THE BEDRAIL IN THE DESIRED POSITION
The bedrail is attached to the inside of the family bed.
It can be attached to the side as well as to the footboard.

-
- - \

2x screws (4x45mm) 2x screws (4x45mm)




ASSEMBLY BEDRAIL + EXTENSION

Connect and fix the 6 wooden slats and 3 wooden pillars using the 24 screws.

= [F - -
= || = -
= [ = -
- o= -
= |8 -
= || -

—
14
—

side view

Then place the cover caps onto the screw heads.

- o>
14 4

Side view

FIX THE BEDRAIL IN THE DESIRED POSITION

The bedrail can be attached to the side as well as to the footboard.

: . - =D

2x screws (4x45mm) 2x screws (4x35mm) 2x screws (4x45mm)

Note on Assembly:

Depending on the height of the slatted frame, you may need to mount the bed rail higher on the inside of the family bed. As a
result, you won‘t be able to use the holes at the top of the bed rail. The stability of your family bed remains unaffected. If you have
any concerns about stability, you can screw another screw more plunging into the pillar. The screws are not visible on the inside.
Alternatively, you can also mount the bedrail on the outside of the family bed.



